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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1- Tt had not raincd on the prairic for several months. Because of the drought, the climate
had beeome very ————--—--- ‘
1) unstcady 2) rigid 3) intcnse 4y arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residenee—weed grew -------—-- in the front yard.
1) unchecked 2) unjustilicd 3) complicated 4) scanty

3-  Can vou please ———--—--— this last part of the lesson for me; I’m not sure [ understood.
1) recapitulate 2) identify 3) postulate 4) recount

4-  Gerry’s dissatisfaction with our work was --—---—--- in his expression, although he never
criticized us directly.
') vulnerable 2) bright 3) implicit 4) humble

5-  The world’s coal, oil and gas ------—---- are finite; one day they will run out, so think now
about what you can do to consume less.
I') appliances 2) deposits 3) relics 4) amenities

6- You are recommended to use mnemonics to help vou -----—--—-- important items of
information.
1) enumerate 2) expose 3) recall 4) withdraw

7-  The lifespan of a mayfly is -----—---- , lasting from a few hours to a couple of days.
1) imprecise 2) ephemeral 3) superficial 4) swift

8-  His words to the press were deliberately -------------; he didn’t deny the reports but
neither did he confirm them.
1) mutual 2) essential 3) dogmatic 4) equivocal

9-  Tlundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to --——--—-- the building
immediately.
1) expel 2) evacuate 3) disperse 4) detach

10- Computers have helped solve some of the mathematical ---------—- which have puzeled
man for many centuries.
1) conundrums 2) caprices 3) artifacts 4) chronologies

Mimﬂth,;éﬁ)'wm)wélﬁxb‘,)lé‘&}éi



Y doeio 423F MY a5) wledlbl 4 goms

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by clhoosing the hest
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

'The overt. nonsecret sources are those theoretically available to any scholar. By far the
greatest amount of effort and allocation of resources go toward the undramatic,
painstaking search for relevant data from open sources, and the problem ultimately
becomes one of efficient management of a mountainous mass of data. 'This has called
for improved systems and machinery for documentation, indexing. and retrieval of
essential Information. Among the features of modern systems are specialized
microphotography, facsimile-printing machines, punch cards, and translation
computers capable, for example, of rendering Russian texts into rough English at
30,000 words per hour. As a result, the physical scientist and technician have come to
the fore in recent vears to challenge the once dominant role of the social scientist as
intclligence collector and analvst.

Whilce the classical spy in his coverl activily normally contributes bul a tiny
pereentage of the massive amount of information gathered, great advantage has been
laken of advancing tcchnology in secking information which sovercign governments
try to conceal. Modern espionage methods have included high-altitude aerial
photography. the use of infrared sensing devices to penetrate camoutlage, electronic
recording devices and radar, and many new techniques for automated espionage in the
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space age. Such technigques become identifiable as espionage when they violate
sovereign erritorial integrity.

Wartime espionage has been seen in international law to be but one of several
forms of belligerency, practiced outside of any obligation of a belligerent to respect the
territory or government of an enemy nation. Espionage in peacetime is, however.
without status in an international law that imposes a duty upon states to respect the
territorial integrity of other states. Each state has the right to define espionage
according to its lights. The problem of cold-war espionage has not been resolved by
international lawvers, who must develop new concepts for an age in which technology
challenges traditional concepts ol sovercignlty.

16- What docs the passage primarily discuss?
1) Management ol information in wartime
2) Overt and covert intelligence
3) International laws concerning cspionage
4) Iow scholars manage massive amounts ol data
17- According to paragraph 1, the most important challenge in searching for data from
NONsecret SOUrces i —-—----------,
I} the drama involved
2) sufticient allocation of resources
3) efficient management of large data
4) lack of trained intelligence collectors
18- The author mentions high-altitude aerial photography in paragraph 2 in order to —---—---- .
1) describe the technology needed for it
2) show how infrared can reveal camoutlage
3) provide an instance [or modern espionage methods
4) illustrate that certain information can no longer be kept hidden

19-  The word “its” in paragraph 3 refers to —----memem—- .
1) stale 2) warlime 3) integrity 4) cspionage
2{}- In international law, according to paragraph 3, cold-war cspionage is ——--—--—-—-- 7
1) an overt activity 2) a lorm of belligerency
3) technically illegal 4) without status
PASSAGE 2:

'Information Management: A Proposal'. That was the bland title of a document written
in March 1989 by a then little-known computer scientist called Tim Berners-L.ee, who
was working at CERN. Europe's particle physics laboratory, near Geneva. llis
proposal, modestly called the World Wide Web, has achieved far more than anyone
expected at the time.

In fact, the Web was invented to deal with a specific problem. 1n the late 1980s.
CERN was planning one of the most ambitious scientific projects ever, the Large
Hadron Colliders, or LHC. As the first few lines of the original proposal put it. "Many
of the discussions of the future at CERN and the LHC end with the question "Yes, but
how will we cver keep track ol such a large project?” This proposal provides an
answer 1o such questions.



& dzio 423F (AT o) Oledbl acqamo

21-

24-

25-

The Web, as cveryone now knows, has many more uses than the original idea of
linking ¢lectronie documents about particle physics in laboratorics around the world,
But among all the changes it has brought about. from personal social networks to
political campaigning. it has also transtormed the business of doing science itself, as
the man who invented it hoped it would.

It allows journals to be published online and links to be made from one paper to
another. It also permits professional scientists to recruit thousands of amateurs to give
them a hand. One project of this tvpe, called GalaxyZoo. used these unpaid workers to
classify one million images of galaxies into various tvpes (spiral, elliptical and
irregular). This project, which was intended to help astronomers understand how
galaxics evolve, was so successlul that a successor has now been launched, 1o classily
the brightest quarter ol a million of them in finer detail. People working for a more
modcst project called [erbaria@home examine scanned images of handwritien notes
about old planis stored in British muscums, This will allow them 1o track the changes
in the distribution of species in response to climate change.

Which of the following is NO'T true about Tim Berners-Lee?
1) e worked at CERN.

2) He was a particle physicist.

3) He was not a famous scientist before 1989.

4y He came up with the idea of the World Wide Web.

The project mentioned in paragraph 2 can be best characterized as -—--—--—-----——,
1) massive 2) minor 3) environmental 4y educational
According to the passage, the Web was originally invented to -------—---—--—- .

1) present a specific proposal to the world

2) let seientists al CERN conncel to cach other

3) provide a spacc lor familics to caich up with cach other

4) link cleetronic documents about particle physics (rom dilferent countrics
What docs paragraph 4 mainly discuss?

1) A project called GalaxyvZo00

2) llow online journals are managed

3) [low the Web transformed our lite

4) The scientific applications of the Web

The word “them™ in paragraph 4 refers to -----—--—-—- g

1) people 2) images 3) galaxies 4) astronomers

PASSAGE 3:

It is not enough to simply improve the management of information 'behind the scenes'.
While this will deliver real benefits. it will not drive the required cultural changes, or
assist with gaining adoption by staff. In many cases, information management projects
initially focus on improving the productivity of publishers or information managers.
While these are valuable projects, they are invisible to the rest of the organization.
When challenged, it can be hard (o demonstrate the return on investment ol thesc
projects, and they do little 1o assist projeet teams (o gain [urther [unding.

Instcad, information management projects must always be designed so that they
deliver tangible and visible benelits. Delivering tangible benelits involves identilying
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conerele business needs that must be met, This allows meaninglul measurement of the
impact ol the projects on the operation of the organization, The projects should also
target issues or needs that are very visible within the organization. When solutions are
delivered. the improvement should be obvious, and widely promoted throughout the
organization. For example. improving the information available to call centre staff can
have a very visible and tangible impact on customer service. In contrast, creating a
standard taxonomy for classifving information across systems is hard to quantify and
rarely wslhle to general statf. This is not to sav that 'behind the :-,Lenes improvements

deliver more visible benefits. This d]bﬂ has a major impact on the choice of the initial
activilics conducted.

The author belicves that “behind the seenes” improvements in information management

1) arc not sulTicient 2) arc nol valuablc
3) result in tangible benelits 4) lead to desirable cultural changes

According to paragraph 1, improving the productivity of publishers or information
IMANAEETS —----—--~-==,

1) must be approved by all staff

2) is not noticed by the staft

3) should not interfere with other projects

4) should be kept hidden from the rest of the organization

The word “impact” in paragraph 2 is closest in meaning to ---—--------—,

1) effect 2) aspect 3) information 4) advantage

Which of the following is given in paragraph 2 as an example for ‘behind the scenes’
improvements?

1) Delivering more visible benefits

2) Not promoting improvements throughout the organization

3) Improving the information available to call center stall

4y Creating a standard taxonomy [or classilyving inlormation across systcms

The funetion of the underlined sentence in paragraph 2 is to —-----neeo- .
1) umposc a requircnicnt 2) prevent a misunderstanding
3) provide an example 4) support a theory
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